uL-c-uL & & |

s EERETE L0 FUlion

Recognized Through-type Terminal Block
T4 —IVRTAYY > T
A +10 E v F.Pitch 16mm
U
6.5 B+0.5 T;;e Num%er UF2057ET] 'PKCT
17 16 16 17 ==
EOAR
/@ Rating AC600V 50A
= = = = HEARAEAT 500V 1000MQ LI E
o ™ Insulation Resistance | DC500V  1000MQ and over
I vy iy N ™ & E 2500V 1 RLLE
SJ '-“ — °\> °\> <\\> i C-— | Withstands Voltage |AC2500V 1 minute and over
; = i S BT 8-12AWG
1] i L N 15 Compatible Wire
4 133 |17 —#e /N7 / General Tolerance £0.5
17 ’ R Scale 4 HAL Unit mm‘

2 % 1
; |
10 = |
o~ T
[Ie] T
o |
O
N ~ T\
O[3 tj;
C *1.0

® NN=RUFEETEZHUIF 7 a v L) 3O THEFELOBMIEE T S v,
‘ ‘ ‘ ® The cover and the marking strip are optionally available.

i i i ® i N—F 723 S H S A L OB IIE SRR -CT £ 7213 PKTEHIEE

_)\ AT 30,
<Y <N <N -

—
|

39
36
Fany
14
17

® To obtain a cover or a marking strip, and “-CT "or “PKT " at the end of the ordering

i form.
® 71N — [ UBL 5 S A E OB IS ERIBICPKCTE ZTRLA M &y,
A N—= R ORRSF SR RE R LTI AL £ 5,

® To obtain a cover a marking strip, and “PKCT” at the end of the ordering form. The

o T : P cover and the marking strip will be delivered separately.

® Ordering Form : Type No.  No. of Poles (P)

O A LR NV 7133, 0N-m T X, BULERIZ DV TIL INDEX Z BT S\,

® Connection screw : Tightening torque is 3.0 N-m. See INDEX for other specifications.

o ik L ML (EH) SR —FHHHkM. BT — % —WHERHSE RO —MEEH. 74—V R71¥Y 2T (RGER) .

® Application : Commercial appliances, including business equipment, electronic data processing equipment, etc.

3 13 16

and industrial devices having limited ratings. Field Wiring.

W{t4%,Specifications.

8%/ Part No. % ¥5/Part Name # & Material #1& /Standard ~ti&//Size JLER / Treatment ik %,/ Remark
1 M- (A)  Base(A) PBT UL B f Black
2 55~ (B) Base (B) PBT UL 2 i Black
3 ] i Base (C) PBT UL B2 ofn Black
4 EEM Terminal #  §il Brass C2680R W JE 2.5 | =97 WAv¥ Nickel-Plated
5 R E A Screw #  steel SWCH-SPCC | M6X1.0X 14 ¢ | Zy7hAs¥ Nickel-Plated | 7Y =% ¥ Y EA  Typell
6 HFEARIV N Connecting bolt #  steel SWCH M3X0.5 ZHA- Trivelent Chromate Treatment F X Type®)
7 R HESMR  Marking strip | RF—K %=k  Polycarbonate UL wOE 1.0 H fs  White + 73 3 Optional
8 7IIN— Cover ARJA—KA—b  Polycarbonate UL wOJE £0.8 [ Bl Transparence | + 72 =3~ Optional
9 #AEF Y b Connecting nut %  steel SWCH M3X0.5 ZffPA=h Trvalent Chromate Treament
10 ATV/77774= Spring washer 2 steel SWCH M3l For M3 | =f/mi= Trvlen Chromat Trement
11 AT & Hexagon nut ¥ 4 Brass C3604B M6X1.0 =97V A9%  Nickel-Plated
12 A= Spacer PBT UL H f1L Black

1B#,Poles 1P| 2 3 4 5 0 7 8 9 | 10 | 11 | 12

A 47 63 79 95 | 111 | 127 | 143 | 159 | 175 | 191 | 207 | 223
B 34 | 50 | 66 | 82 98 | 114 | 130 | 146 | 162 | 178 | 194 | 210
C 19 | 35 | 51 | 67 83 | 99 | 115 | 131 | 147 | 163 | 179 | 195

668



